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Year group: 3 Date: | July
Bronze Silnmer Gold,
Engh,sh, Sentence types- Today we would like you, | Synonyms and, antonyms- Today we would, like yow to- understand, whats synonyms and,
Please use this link to watch the videos https://www.bbc.co.uk/bitesize/articles/zhwgmfr
and, complete the, actinities. Thmcompld:eth@3odimﬁe&omﬂw@BBCBifesimweb&b&
https://www.bbc.co.uk/bitesize/articles/z7
b3trd
Maths Please read the scales using Kg and g to- wirite the: amounts shown by the arrows.
Remember to- work oubs you intervals to- help you.
Dont forget that, IKg s |000g.
Recdj_ng/ Please Jollow the: link below to- access online reading books. Please see the list of books for your child's reading band, irv their red, books
Spdhnga o/ [, cowk/

Please read ab least 2 pages of a books and, record, it inv the red, school links: book. Can yous wiite the: common exception word, 3 times? Please see
the tables onv the next: pages. These are the words for this week. Yow could emen test; yoursell orv Friday. (new words will be, gisery next; Monday,)
We hane attached some wordsearches Jor yow to- complete.
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https://www.bbc.co.uk/bitesize/articles/z7b3trd
https://www.bbc.co.uk/bitesize/articles/z7b3trd
https://www.bbc.co.uk/bitesize/articles/zhwqmfr
https://www.oxfordowl.co.uk/
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Engiifsh— BT\O{’UZ,@

Sentence types

W&Wwwwwwm%vdm&mmwwmm4@pwqﬂm
https://www.bbc.co.uk/bitesize/articles/z7b3trd



https://www.bbc.co.uk/bitesize/articles/z7b3trd

English- Silver
Synonyme and antonyms.

Wewould/likegowtowxdﬂ\sband;sgnongm&and;antomdm&ar& Pleoﬁe}ollothhehxﬂ@andwatdwﬂwwdeo&
https://www.bbc.co.uk/bitesize/articles/zhwamfr

Thmcomplﬁie’dwe 3 activities onv the BBC Bitesize website.


https://www.bbc.co.uk/bitesize/articles/zhwqmfr
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1) For each scale, write the mass that is shown by each arrow in kg and g.
The first one has been done for you.

Scale 1:

Okg kg Zkg 3kg
I|[||||||||I*|||+||||[I||i|||||$||
D E B A C F

Hint: There are 10 increments between 0 and 1kg (1000g).
Each increment is worth 1000g =10 = 100g.

Arrows are pointing to:

A)  dkeg 9004 D)
B) E)
C) F)
Scale 2:
Okg kg 2kg 3kg 4kg Skg bkg
| * | + + | 1| || + + |
D A E B C F

Hint: There are 2 increments between 0 and 1kg (1000g).
Each increment is worth 1000g = 2 = 500g.

Arrows are pointing to:

A) D)
B) E)
C) F)




Maths- Siler

1) For each scale, write the mass that is shown by each arrow in kg and g.
The first one has been done for you.

Scale 1:

Okg 1kg 2kg kg Likg

| % I + | f | % L
B F A E C

Hint: There are 4 increments between 0 and 1kg (1000g).
Each increment is worth 1000g + & = g.

Arrows are pointing to-

A) g 750g D)
B) E)
C) F)
Scale 2-
Okg 1 2kg 3
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Hint: There are 5 increments between 0 and 1kg (1000g).

Each increment is worth 1000g = 5 = g.
Arrows are pointing to:
A) D)
B) E)
C) F)




1) For each scale, write the mass that is shown by each arrow in kg and g.
The first one has been done for you.

Scale 1-

Before you begin, how much is each increment worth? Explain how you know.

Okg kg 2kg 3kg

Arrows are pointing to:

A)  2kg 2004 D)

B) E)

C) F)

Scale 2-

Before you begin, how much is each increment worth? Explain how you know.

2kg 3kg kg Skg 6kg
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Arrows are pointing to:

o —=—

A) D)

B) E)

C) F)




